
   P. T. O. 

No. of Printed Pages : 6 BECC–110 

B. A. (HONS.) ECONOMICS  

(BAECH)  

Term-End Examination 

June, 2024 

BECC-110 : INTRODUCTORY ECONOMETRICS 

Time : 3 Hours     Maximum Marks : 100 

Note : Answer questions from all the Sections as 

per instructions. 

Section—A 

Note : Answer any two questions from this 

Section.  2×20=40 

1. What is an estimator ? Explain the properties 

of a best linear unbiased estimator.  

2. What do you understand by the term 

‘Prediction’ ? Explain individual prediction and 

mean prediction.   
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3. (a) What are the assumptions of multiple 

regression model ? Explain. 

(b) Explain the Maximum Likelihood Method 

of estimation. 

4. What do you understand by the term 

‘Multicollinearity’ ? Explain the remedial 

measures of multicollinearity.  

Section—B 

Note : Answer any four questions from this 

Section.  4×12=48  

5. Explain the methodology of econometrics 

through various steps which are to be followed 

in an econometric study.   

6. (a) Distinguish between Type-I and Type-II 

errors.  

(b) Explain the approaches to parameter 

estimation. 

7. What is the significance of Analysis of Variance 

(ANOVA) ? Explain the whole process involved 

in ANOVA.   
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8. What are the implications on the estimates if 

there is a change in the measurement scale of 

the explanatory variable ? 

9. Distinguish between the Semi-log Model and 

the Log-linear Model. Give examples. 

10. How do we test the structural stability of a 

model ? Explain the test employed to check the 

same.  

11. How do you detect heteroscedasticity ? Explain 

with the help of : 

 (a) White’s General test and 

 (b) Goldfeld-Quandt test ? 

Section—C 

12. Write short notes on any two of the  

following :  2×6=12  

(a) Central Limit Theorem  

(b) The t-test 

(c) Dummy Trap 

(d) Choice of the functional from  
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